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o FIT JATRTT FX o 37 TR T H Hfed Iv6 &
H133IR 30 92T &

e Please make sure that printed page in this
question number are 13 and it contains 30 question

[

o U U & GV AR fET 91T I3 &Y B GaRT 3
qiEcehT T Tgell J56 TR ferdr ST 1T |

e The code number on the right side of the question
paper should be written by candidate on the front
page of answer book.

o ThdY T2t &7 3R fol@al & Ugel 39T hATdh Tl@elT
g |

e Before beginning to answer a question; its serial
number must be written.

o YT IR YIEcehT & Well Fodl 7 BIS|

e Don't leave blank Page/Pages in your not work.
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37T 3MEIThT TR & oy 7 forg gU 3T e
hIC|

e Accept answer sheet no extra sheet will be given
.So write to the point and do not strike written
answer.

o T{TETTAT 37TT el TaX U2 UF W 37927 T |

e Candidates must write their roll number on the
guestion paper.

o FHTIT JRaAT T IR &1 ¥ Ugol Ig FlATRTT FX of
cr%arq-arcm‘ra'ﬂ%‘r% |RYeTT % SR g AT H Fis
AT eTaT TAIhR T8l fohdT AT |

e Before answering the questions ;ensure that you
have been supplied the correct and complete
question paper. No claim in this regard will be
entertained after
examination.

AT fAcer:
1. Y 927 31T g
2. qEITSS TREAT & HE fdeho ferdd |
3. Gedieh WeeT & 379 1Y gRliT 7w ¥ |
General instructions:
1. All questions are compulsory.
2. Write the correct answer in objective type question.
3. Marks of each questions are indicated against it.



Q. 1 T & A i IT 9Ty ofF TAT o HIH H oIl o
ST @ehaT B

A STl

B &I

C Tolli¥ceh

D fAcd
which of the following materials cannot be used to make
alens.

A water
B glass
C Plastic
D clay
1 marks
Q2.3¢ T8 TegfATATH & AR & aTS Sl YT I@A

§U 3 3TITY HIC &%l I 2 T[T X AT ST F 36
aR &

A 3= 8Y g9l

B 21Tt &Y STwaiy

C 3melY g1 SIeafT

D o1 & &Ig =gl

Q2.If the cross sectional area of an aluminium wire is
doubled and length remaining same, its resistivity will
remain _
A same
B double



C. halved
D'None Of These
1 marks
Q3.fFeT AT F TAE M FT___ FEd 7
Q 3 . The rate of the flow of charge is called
1marks

Q 4 . SEEEIN T SeTT FehrRT T hieT HY T I TR &

Q 4. Name the phenomena on which formation of
rainbow is based?

1 marks

Q 5. ﬁmﬁ@?rqaaﬁa’raw?r% AR A 3R HROT
B, 9T & &l fqU 1T 3ugSFd fashed I Tl A ge

3R GITAT

3refenT( A) : T8 TSE GIW # 3TTeh! Y hi a&] FISE &Y
¥ fewrs &t § o e $r aq Fase &9 & oS gt
Gl

FROT (R): &E gfSe @y &1 3T &3ar & 39 o F &
AT Fleh Sleh TohaT ST ThaT ¢ |

A: AR R TErg dUTR, A Fr Tl sarear g |

B: A 3R R gl T&r § 94T R ,A &1 T&T IT&dT g1 ¢ |

C: AT %*w\d R 3ET ¢

D: Ach%LNd RAT gl

Q5. The questlon below consist of two statements,
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Assertion (A) and Reason(R), answer the questions by
selected the appropriate option given below

Assertion (A): In hypermetropia,a person can see the
distant objects clearly but he cannot see the nearby
objects clearly.

Reason (R): Hypermetropia can be corrected by using a
convex lens of suitable power.

A: Both A and R are true and R is thecorrect explanation
of A.

B: Both A and R are true and R is not the correct
explanation of A

C: Ais true and R is false.

D: Ais false and R is true.

1 marks
Q6.areaT FIfST foh I8 T4t AgT feAfeard|
Q.6 Explain why the plants do not twinkle?

2 marks

Q7 : g fdegd Al 220 dlec & faegd @i § 5.0
TR faegd ﬂulét-ﬁ%ﬁa‘qﬁﬂ’laﬁalﬁcrﬁ%ﬂﬁ?r
@ﬁmr—rmzaﬁﬁrﬁﬂaqdw el il IR ToTd
ST

3727
Q 6.faegd U fhd Fgd §? ST T T S| A ford ?



Q.7 An electric motor takes 5.0 A from 220 V line .
Determine the power of the motor and energy consumed
in 2h.

Or
What is an electric current? Write formula and SI unit.

2 marks
Q 8:
a) faega anr &l fohq T @ AT ST %"I sq 49 &1 faegd
qfaer 3 g e & SieT STar B 59 I &I Thy Fohd
GaRT ve i fohar STaT 8
b) T THARAT (1A) & gRATRT FH|

Q.8 a) Name a device used to measure electric current,
How is it connected in an electric circuit? Write symbol
of this device.
b) Define one ampere.

3 marks

Q 9: TordT YRTATET JATHR TTRT o FRUT el &1 T
guie IS |

dr
faege aRal aur arfersy & Qe 3UAeT gis arel &
mmma?amﬁ@vammmﬁ%mml

Q.9 Describe the magnetic field due to a current through
a circular loop.

Or
Name two safety measures which are used in electric
circuit and appliances. Also illustrate their working .



3 marks

Q 10:a) 3dcT GUUT AT 37dcel GUUT & &1 37X TISE |
b) gqur = faf@T
c) 2 HIeT BIerd gdf aTel fohdT 3Tadel ol T &THT AATd
hITSTT|

34t
TN gYUTt ST IR & foIw ygerd 718 Reg aRarér
T STEAT iU

Q 10 . a) Differentiate between convex and concave
mirror.
b) What is mirror formula?
c) Find the power a concave lens of focal length 2m

Or
Explain the new symbol convention used for reflection
by a spherical mirror.

5 marks

Section B Chemistry

Q 11: ArIfTad # @ i 41 37 Wey yerdi A
FaepceTferaT &I Tehd &7

%%%%

)
)
)
)

Oo0Omo>

Q.11 Which of the following gas prevent rancidity in edible product-
A)O:
B)H:



C)N2
D)Cl2

1marks

Q 12. 2AgBr [ ]2Ag+Br-

IR AfATRAT foRe g < 3R &2
A)FsATETH B) AN C) Tl 31TATHATI D) 518 A IS 78T
Q.12 2AgBr ------ 2Ag + Br2
What is the type of above Reaction?
a) exothermic
b) endothermic
¢) Combination
d) None of above
1 marks

e HAeT 13; Teh 31T & ST fde el ol Geleleh g |
Q.13 is a nonmetal which is good conductor of electricity.
1marks
T2 Fe 14: TETdaydar Fd Fga & ?
Q 14. What is malleability?
1 marks

Q 15: Aeafaf@a g9 & g Faa &

HASHYA (A) AR FHROT(R), 9T & AT QT 7T 3UercT faehed i =T
X 8T 3R 11T

JFAFUT (A) : HCI , HNO,3TE STl feraret & 3rairr 3ifdreraTor wefidia
A B |

0T (R) : HCI AT TsT HNOR31TTe; STel H gefeht H+ 3T S & |

A) AR REIAT T g dUTR , A T TET car&aT g |

B) A IR Rl TcT § TUTR,A T T&T cIT&AT 161 ¢ |

C)ATIE W R T gl g

D) AT 7S § R R T T |

Q.15 The question below consist of two statements :

Assertion (A) and Reason (R) , answer the question by selecting the
appropriate option given below:

Assertion (A) : HCI , HNOg, etc , show acidic characters in aqueous
solutions.

Reason ( R) : HCl and HNO; etc , give H+ ion when dissolved in water
a) Both A, and R are true and R is the correct explanation of A .



b ) Both A and R are true but R is not the correct explanation of A.
c)Ais true but R is false.
d) A is false but R is true

1 marks

Q 16: [agIeTeT TATHAT T 3T FAT FHSTA 2 TATITAh THIHIOT AT
Teh 3G1e0T GITAT|

Q.16.What are decomposition reaction? Give one example with chemical
equation?
2marks

17: €Tael HIST &1 THE TR G 3R & 3a1er forg |

Q 17 . Write the chemical formula and two uses of washing soda .
2 marks

Q 18: Al faergsit, A,B,C &1 STdl A feh Feeh & Sirel &l Sicil g o pH o
AT hAT: 0,7,14 9TCd g1 ¢ | it T [aerge -

A) 3eTHie §7

B) U&el 8TRIT § ?

C) Ysel IFalIT 87

Q.18. The solutions A, B,C when tested with universal indicator showed
pH as 0,7,14 respectively, which solution is -
a) Neutral
b) Strongly alkaline
c) Strongly acidic
3 marks

UaT e 19: 3T JTRTHIATIIT o forw Fefieor faf@w
i) HTT S AT 3RRA
ii) STeT o AT Hferad
iii) STl o T I fRITH
3r2rar
Giest 3R 319EF # dieT 37 forr |

Q 19 . Write equation for the reaction of :
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i) Iron with steam
ii) Calcium with water
i) Potassium with water
Or
Write any three difference between a mineral and ore .
3 marks

Q 20 a) HTSFAITCeT T G TAT Felaciol foig HIE&TUT FT gy ?
b ) SATeT GART 31T 3Tcohigel Ud Sl A Toleh TFCI3THT H hdl 3TN
gohd & ?
3rerar
a) A=faf@a aifet & & @ -
i) CH,-CH,- CH - OH
i) CH,- CH,- CH,- OH
b) Afaf@aa FifAwt fr = Rffsa fifsw]
i) TIATeT 37T
ii) gFatel
iii) ST

Q 20.a) Write the chemical formula and electron dot structure of
cyclopentane .
b)How would you distinguish experimentally between an alcohol and a
carboxylic acid ?

Or
a) write name of following compounds
i)CH;.- CH, - CH- OH
i) CH;- CH,- CH,- OH
b) Draw the structure of the following compounds
i) ethanoic acid
i) Hexanal
iii) Butanon

Smarks

Section C(Biology)
Q 21 : AT AT A e 0T &
a)XX
b) ZZ
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c)YY
d) XY

Q 21. Sex chromosome present in human female is :
a) XX
b) ZZ
c)YY
d) XY
1 marks
Q22: ﬁmﬁﬁaﬁams@@mmﬁﬂﬁwm%:
a) 9y , g AT 3H
b) 1, AT ATAT
C) ShT I T grefY
d) T8, FASell JUT gl

Q 22 .Which of the following constitute a food chain?
a) Grass, wheat and mango
b) Grass , Goat and human
c) Goat, Cow and Elephant
d) grass,fish and goat
1 marks

Q 23: 9T Y T fH0Tt & STet arell 9T ol +ATH gl

Q.23. protects earth from the harmful ultraviolet radiations.
1marks

Q 24: FiT T AT A 3R TABH gIAr ATTAd HLl 87
Q. 24. Which endocrine gland secretes both hormones and enzymes.
1 marks

25: 31T HUT: A) TSI Jebel SAHeh o IYANT T FeATg &1 ATl g |
FUT:R) ARRITFET Tl Feliet & foIT 3madet 1 3maeear gl ¥1 78
gTHIT WICIT, IAT dUT FIEEISC o 3UTATeT dl [AITAT AT & |

AAIR REIAT IcT & dUTR , A T T8I SIT&T B |
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B) A 3R R gl<T §c g ar RA I Gl arear sigT ¢ |

C)ATIE W R T el g
D)AFT 7 § RJR AT E |
Q.25 Assertion (A) : It is advised to take lodized salt

Reason ( R) : lodine is essential to make thyroxine hormone which
controls the metabolism of carbohydrate , protein and fat.

1 marks
Q26: it fsham & AfETseh hr T 3RS 572
Q.26.What is the role of the brain in reflex action ?

2 marks
Q 27: RET0T fohar g O frg yaeR AT 87
Q.27 .How is pollination differ from fertilization?

2 marks

Q28: AT STeled dF T AT TAT3 |
Q.28 . Draw a well labelled diagram of female reproductive system.
3 marks

Q 29 : A & G A HY Tl Tl T FATHe=T F&T0T FaclT FT & AR
gid 87
314t

Teh silel PooT dTel GIYY &l HerdUT Teh Hhe, Pl dTel TIET (BB) & T :
i) I HAfd & Gell T LT SHAT gram?

i) G AT H HHRTIUT SaRT 1o Gl 1 GfaRre fovcar gram? g
ITEAT HTAT

Q.29. How do Mendal's experiment show that traits are inherited
independently?
Or
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A blue coloured flowering plant (BB) was crossed with white coloured
flowering plant (BB)
i) What will be the color of flowers in F, generation?
i) What percentage of white flowered plants will be in F, generation
through self pollination of F, plants .Explain with diagram.
3 marks
Q30:
a) Teh Tl o JT]IEY FIC T ATHI o T ST |
b) eRTRT HYSINOT 3T & ERTeT BloY aTer TafeeT HeaTTait &1 faf@e|
3 ar
a) ATId E& T I SYITATcHS FIC T &l ATHIohd [T TS|
b) 9TaeT fohaT 7 &R Td TaRE & FT &7 JUTA H |

Q.30. a) Draw a cross- section of a leaf and label it .
b) Describe various events taking place during photosynthesis.
Or
a) Draw a labelled diagram of cross - section of the human heart.
b) Describe the role of saliva and bile juice in the process of digestion
5 marks.



